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1. Express/og A in terms of /og
1

10X !
23

/i d /
og v and log z

(i) 4/ogmx— 2/ogwy— 3/ogmz (i) 4/0910X+ 2/ogwy+ 3/ogmz (iii) 4/ogwx— 2/ogmy+ 3/ong

(iv) 4/ogmx+ 2/ogmy— 3/09102 (v) 4/og10x— 3/ogmz+ 2/ogwy

2. If /og4y+ 2/og4x=2 express y interms of x

2 16

. X .. X - . 16
(i) y=__ (i) y=72 (i) y= 5 (iv) y=""
16
a3
3. Express/ogg- in terms of /ogga , /oggb and /oggc
Vb

1 1 1
(i) 4log a+ 3/log c— —log b (ii) 4log a— 3/log c+ —log b (iii) 4log a+ 3/og c+ — log b
9 9 2 9 9 9 2 9 9 9 2 9
. 1 1
(iv) 4log a— 3/log c— —log b (v) 3log c— —log b+ 4log a
9 9 2 9 9 2 9 9

Ve

rst

4. Express/og interms of /og p, log g, log r and log s
6 6 6 6 6

5 5
(i) log p— —log g+ 5/log r—4log s (ii) log p— —log q— 5/log r+ 4log s
6 2 6 6 6 6 2 6 6 6
5 . 5
(iii) /log p+ —log g+ 5log r— 4log s (iv) log p— —log q— 5/log r— 4log s
6 2 6 6 6 6 2 6 6 6

5
(v) log p+ —log q—5/log r—4log s
6 2 6 6 6

5. If /og3x=pand /og3y= g,thenxy =

X
6. If / = d / =q,then- =
og x=pand log y=q eny

iy 4P=D iy aP9 ity a2P9 (i) a(PTD



(a+1)
7. If lo =agand /o =b,then7 =
97X 97}’

(i) 7x (i) 76 (i) 7y (iv) 7 (v) 7a

8. If log x=aand log y=b,then 97"~

(i) ab (i) yb (iii) ax (iv) xy (v) 9

9. If Jog x=aand log y=b, then pla=b_
NX e X Y d a
(i) y (ii) b (iii) x (iv) B (v) ,
4p

10. If /og4x= aand /og4y= b,then4 "=

M a* (i) x* (i) 46 (iv) y* (v) 4y

11. Express /log p3q3 in terms of /og p and /og g

log p
(i) - (ii) 3/ogp— 3logq liii)) 3logp+ 3logqg (iv) 3logq— 3logp
log q

12. Express log v/ p2g? interms of Jog p and log q

log p
(i) 2logp— 2/log q (ii) 2/logp + 2log q (iii)) 2logq— 2/log p (iv) - (v) logp+ log g
log q
3/ .
13. Express /log \/pzq in terms of /og p and log g
2/og p 2 1
(i) (ii) 2/og p — log g (iii) logp+ —logq (iv) 2logp+ logq (v) logqg— 2logp
lo 3 3
g q
02
14. Express /og - in terms of /og p and /og q
2
= logp
(i) 2/logp— 3logq (ii) 3logqg— 2logp (iii) 2logp+ 3log g (iv)
log q
2
p
15. Express /og \/ in terms of /og p and /og q
q5
2
5 logp 5 5 5
(i) (ii) log p — > log g (iii) -2/ogq— log p (iv) log p + > log q

log q



16. If (x2+y2)=34xy, then 2/og(x+y)=

(i) logx+ logy— 2log6 (ii) logx+ logy+ 2log6 (iii) logx—logy— 2log6 (iv) logx— logy+ 2log6

17. If (x2+y2)=llxy,then log (x—y) =

1 1 1 1 1 1
(i) -2/ogx+ -2/ogy+/og3 (ii) -2/ogx— -2/0gy—/og3 (iii) -2/ogx+ -Zlogy—/og3

1 1
(iv) 2/ogx— 2/0gy+ log 3

18. If (x4+y4) =47)(2y2 , then /og(x2+y2)=

(i) logx—logy—log7 (ii) logx— logy+ log7 (iii) logx+ logy+ log7 (iv) logx+ logy— log7

y2
19. If x=- , then /log(x—y)=
(y-1)
log x
(i) (ii) log x — log y (iii) log x + log y (iv) log xlog y
log y

20. If (x2+y2) =22, then which of the following is true?

log (z+y)
(i) log (z+y) + log (z—y)=2 (ii) log (z+y) — log (z—y)=2 (iii) log (z+y) + log (z—y)=5 (iv) - =3
X X X X X X /OQ(Z—)/)

(v) log (z+y) + log (z—y)=4

21. If (x3+)3) =23, then which of the following is true?
(i) log (z—y) + log (2+zy+y2)=3 (i) log (z—y) — log (Z+zy+y2)=3 (i) log (z—y) + log (2+zy+)%)=6
X X X X X X

log (z—y)
(iv) -

=4 (v) log (z—y) + log (22+zy+y2)=5
/og(22+zy+y2) x x

22. If (x4+y4) = , then which of the following is true?

log (7 —y?)
(i) log (Z2=)2) + log (Z+y2) =4 (i) log (Z2—y2) + log (Z+y*)=6 (iii) - =5
x x X X log (22 +y?)

(iv) log (Z2—y2) — log (Z2+y2)=4 (V) log (Z2—y?) + log (Z2+y2)=1

23 Ifx=1+4+/og ab;y=1+ log bc ;z=1 + logbac,

. C a

then which of the following is true?

(i) (xy+xz+yz)=xyz (i) (x+y+2z)=xyz (i) (xy—xz+yz)=xyz (V) (xy+xz—yz)=xyz

(V) (xy—xz—yz)=xyz
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